YY) T YN,
CIELAB & TUBJN
3

CIE-Y-Empfindlichkeit
normiert fur (AY/Y),

L*tupanp=d In [ 1+ bXY/Y,)]

d=25,6 b=6,141 [2a]

@YY T YN,
CIELAB & TUBJN
3

CIE-Y-Empfindlichkeit
normiert fir (AY/Y),

L*tuganp=d In[ 1 + bXY/Y,)]

d=25,6 b=6,141 [2a]

L* cieLaB :116(Y/Yn)1‘3‘ 16 (Y,=100, 0,8% Y) [2b] L* CiELAB :116(Y/Yn)1‘3‘ 16 (Y,=100, 0,8% Y) [2b]
2
- T 1 R
Anwendungs- Anwendungs-
bereich |10 S5 L Y L e e - bereich
~ weis | L*y cieLap =49, Y,=18 A L Wei _
~ -
Yn=3,6'Y,=18 | Y} =90 Yn=3,6.Y,=18 | Yy =90
o 0.1 1 N6 od” T 1000 Y 0.1 1 N6 08T 1000 Y
-2 -1 0 1 2 3logy || - -1 0 1 2 3logY
egf60-5a egf60-6a
(AYIY) I (AYIY), CIE-Y-Empfindlichkeit (AYIY) 1 (AYIY), CIE-Y-Empfindlichkeit
CIELAB & TUBJN normiert fir (AY/Y), CIELAB & TUBJN normiert fur (AY/Y),
3 3

L*rugonp=d In [ 1+ bYY/Y)] d=25,6 b=6,141 [2a]

L*tuganp=d In[ 1+ bXY/Y,)]

d=25,6 b=6,141 [2a]

L* ClELAB :116(Y/Yn)“3‘ 16 (Y,=100, 0,8% Y) [2b] L* CIELAB :116(Y/Yn)1‘3‘ 16 (Y,=100, 0,8% V) [2b]
2
hmm - SGNWAZ hmm - SGWALZ
B [ Rt il
. lNE‘IE - u,CIELAB =% Ty= ! 0~ . wg'@ -
- -~
Yn=3,6'Y,=18 | Yiy=90 Yn=3,6Y,=18 | Yy =90
o 0.1 1 N9 g 1000 Y o 0.1 1 N0 108" 1000 Y
-2 -1 0 1 2 3logY || - -1 0 1 2 3logY

egio0-5a

egf60-7n




